N3CS20 Practice Set 20
Instructions: Answer each question on loose leaf, quad-ruled (graph paper), headed properly and written in lead-graphite.
Remember to fold paper along the center, work exercises in order top to bottom, left column then right column. Fold multiple pages
Gv1 pg. 247 #1
Gv1 pg. 247 #3
Gv1 pg. 247 #5
Gv1 pg. 247 #7
Gv1 pg. 247 #9
Gv1 pg. 247 #11
Gv1 pg. 240 #12
Gv1 pg. 241 #18
. Gvilpg. 241 #19
10. Gv1 pg. 242 #22
11. Gv1 pg. 13 #28
12. Gv1 pg. 19 #12
13. Gv1 pg. 27 #10
14. Gv1 pg. 28 #20
15. Gv1 pg. 35 #16
16. Gv1 pg 47 #16
17. Gv1 pg. 48 #20
18. Gv1 pg 63 #8
19. Gv1 pg 77 #16
20. Gv1 pg 85 #10
21. Gv1 pg. 157 #6
22.Gv1 pg. 177 #18
23.Gv1 pg. 195 #4
24.Gv1 pg. 203 #6
25. Gv1 pg. 225 #8
26. Gv1 pg. 227 #22
27.
Sort tho cystome of oquatione into the appropristo bine that doccribe tholr

solutions. 8EE. 8 8 EE8b

CoNoGRA~GN

r=2(x+3) y=4ax +4 y ==X
y=2x+6 y ax+1 y=x-1
No Solution One Solution Infinitaly Many Solutions

28.

The cost y in dollars 1o park in a garage i found by the equalion
y = 2,50 + 0.76x, whore x ia the number of hours pakcd. Scloct
whether eacy statement is true or false. BF.3, 8F4

Tree False
The gragh of y = 250 + 073« passes hvough (G O).
The gragh of y = 250 + 0.75«¢ is a straght line.,
The y-ineercept represents the flat fee for parking, which & $2.50

The slope represents the toll cost of one hour of parking, which is $0.75.
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29.
An onflire Shopping Conpaty uses boses ke the one shown Lo ship /
Mirchases 1y cutinmer:. RFFT RFF T p, /
Port A The shipping Lux reeus 1,229 square Ingt es of cardloond o e
NALA it Qix sida, withut swwadan What i the haight of the hax? M
Jse the formule for surface area of a prism SA. = 2wf + 26w + 2t to
writ2 an equation. Then find the bax height,
tquatiox [ ]
Height of bexc [ ]
Part B: Would packing material with volume 250C cubic ixchas fLintd this
shipping box? Explain.
30.

Galden Gate Park in San Francisco, Califeria, is ractangular in shape and
measures approximately 1.6 « 127 faet by 2.7 = 10¢ feet. One acre s egual
10 4,356 = 10" faet, About how meny scres does Goden Gate Parx cover?
Round te the ncarest huncrectn, Explain yoeur answer, E.EE.4



